Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Project Name: SHILOH NATIONAL MILITARY PARK

State: TN Opened at: STERLING, VA
County: HARDING By: JLowe/PSchaad
SHILOH NATIONAL MILITARY PARK Date: 08/27/2007

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Joanne Lowe

Title: Contract Specialist Date: August 27, 2007

Contract Awarded to: Delta Contracting Company, LL Date: September 4, 2007

Contractor	Bid Amount	Responsive
Delta Contracting Company, LLC 118 Hadley Drive PO Box 427	2,066,928.45	
Humboldt, TN 38343		
Anthony & Gordon Construction Compa 616 Luttrell Street Knoxville, TN 37381	2,442,262.00	
Engineer's Estimate	1,700,000.00	

Date: 08/27/07

## TABULATION OF BIDS

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-000	0 LPSM	Mobilization			
D	elta Contracting Compan	y, LLC	ALL	192,000.00	192,000.00
A	nthony & Gordon Constr	uction Compa		155,000.00	155,000.00
El	NGINEER'S ESTIMATE			183,055.00	183,055.00
15201-000	D LPSM	Construction survey and	staking		
D	elta Contracting Compan	y, LLC	ALL	94,500.00	94,500.00
A	nthony & Gordon Constr	uction Compa		80,000.00	80,000.00
E	NGINEER'S ESTIMATE			70,000.00	70,000.00
15401-000	0 LPSM	Contractor testing			
D	elta Contracting Compan	y, LLC	ALL	67,000.00	67,000.00
A	nthony & Gordon Constr	uction Compa		65,000.00	65,000.00
El	NGINEER'S ESTIMATE			35,000.00	35,000.00
15704-1000	0 m2	Soil erosion control, pla	stic lining		
D	elta Contracting Compan	y, LLC	135	5.00	675.00
	nthony & Gordon Constr			125.00	16,875.00
E	NGINEER'S ESTIMATE	- -		15.00	2,025.00
15705-0100	0 m	Soil erosion control, silt	fence		
D	elta Contracting Compan	y, LLC	700	10.00	7,000.00
A	nthony & Gordon Constr	uction Compa		35.00	24,500.00
El	NGINEER'S ESTIMATE			15.00	10,500.00
15705-0600	0 m	Soil erosion control, tem	porary 600mm culvert	pipe (flexible plastic)	
D	elta Contracting Compan	y, LLC	50	95.00	4,750.00
A	nthony & Gordon Constr	uction Compa		175.00	8,750.00
E	NGINEER'S ESTIMATE			185.00	9,250.00
15705-1800	0 m	Soil erosion control, tem	porary diversion berm		
D	elta Contracting Compan	y, LLC	50	190.00	9,500.00
	nthony & Gordon Constr			400.00	20,000.00
	NGINEER'S ESTIMATE			270.00	13,500.00
15706-020	0 Each	Soil erosion control, che	ck dam		
D	elta Contracting Compan	y, LLC	10	80.00	800.00
A	nthony & Gordon Constr	uction Compa		1,000.00	10,000.00
El	NGINEER'S ESTIMATE			400.00	4,000.00

## TABULATION OF BIDS

Date: 08/27/07

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
	200 Each Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA	struction Compa	er bag 1	1,000.00 3,000.00 4,000.00	1,000.00 3,000.00 4,000.00
	000 ha Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA	struction Compa	0.8	50,000.00 150,000.00 10,000.00	40,000.00 120,000.00 8,000.00
	000 ha Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA	struction Compa	rubbing 0.2	50,000.00 120,000.00 17,500.00	10,000.00 24,000.00 3,500.00
	200 Each Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA	struction Compa	2	200.00 5,000.00 1,000.00	400.00 10,000.00 2,000.00
	100 Each Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA'	struction Compa	3	75.00 720.00 250.00	225.00 2,160.00 750.00
	300 m  Delta Contracting Comp  Anthony & Gordon Con  ENGINEER'S ESTIMA'	struction Compa	d wire 174	12.00 16.00 10.00	2,088.00 2,784.00 1,740.00
	100 m  Delta Contracting Comp  Anthony & Gordon Con  ENGINEER'S ESTIMA'	struction Compa	mber 170	18.00 26.00 20.00	3,060.00 4,420.00 3,400.00
	500 m  Delta Contracting Comp Anthony & Gordon Con ENGINEER'S ESTIMA'	struction Compa	ardwall 21	100.00 58.00 250.00	2,100.00 1,218.00 5,250.00

Date: 08/27/07

# TABULATION OF BIDS

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20302-2	2100 m  Delta Contracting Compa Anthony & Gordon Cons ENGINEER'S ESTIMA	struction Compa	10	60.00 265.00 65.00	600.00 2,650.00 650.00
20303-1	600 m2 Delta Contracting Compa Anthony & Gordon Cons ENGINEER'S ESTIMA	struction Compa	ohalt 1,100	7.00 14.50 16.00	7,700.00 15,950.00 17,600.00
20401-0	0000 m3  Delta Contracting Companthony & Gordon Conservation ENGINEER'S ESTIMATER	struction Compa	1,220	18.00 32.00 35.00	21,960.00 39,040.00 42,700.00
20402-0	0000 m3  Delta Contracting Companies Anthony & Gordon Conse	struction Compa	130	18.00 36.00 50.00	2,340.00 4,680.00 6,500.00
20701-0	0800 m2 Delta Contracting Compa Anthony & Gordon Cons ENGINEER'S ESTIMA	struction Compa	e II-B 2,300	4.00 4.25 10.00	9,200.00 9,775.00 23,000.00
20701-1	200 m2 Delta Contracting Companition & Gordon Consequence ENGINEER'S ESTIMAT	struction Compa	e IV-A 1,600	7.00 4.25 10.00	11,200.00 6,800.00 16,000.00
20801-0	0000 m3  Delta Contracting Compa Anthony & Gordon Cons ENGINEER'S ESTIMA	struction Compa	250	20.00 50.00 52.00	5,000.00 12,500.00 13,000.00
20802-0	0000 m3  Delta Contracting Compa Anthony & Gordon Cons ENGINEER'S ESTIMA	struction Compa	5	80.00 125.00 90.00	400.00 625.00 450.00

## TABULATION OF BIDS

Date: 08/27/07

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20803-0000	m3	Structural backfill			
Delt	a Contracting Con	npany, LLC	250	80.00	20,000.00
Antl	nony & Gordon Co	onstruction Compa		58.00	14,500.00
ENC	GINEER'S ESTIM	ATE		70.00	17,500.00
21101-1000	m2	Roadway obliteration, m	nethod 1		
Delt	a Contracting Con	npany, LLC	1,165	16.00	18,640.00
Antl	nony & Gordon Co	onstruction Compa		33.00	38,445.00
ENC	SINEER'S ESTIM	ATE		12.00	13,980.00
25102-4000	t	Placed riprap, class 4			
Delt	a Contracting Con	npany, LLC	8,000	49.00	392,000.00
Antl	nony & Gordon Co	onstruction Compa		50.00	400,000.00
ENC	SINEER'S ESTIM	ATE		40.00	320,000.00
25202-1000	t	Special rock embankmen	nt, mechanically-placed		
Delt	a Contracting Con	npany, LLC	7,000	49.00	343,000.00
		onstruction Compa		50.00	350,000.00
ENC	GINEER'S ESTIM	ATE		35.00	245,000.00
30101-0000	t	Aggregate base (No. 57.	Stone)		
Delt	a Contracting Con	npany, LLC	1,100	35.00	38,500.00
Antl	nony & Gordon Co	onstruction Compa		56.00	61,600.00
ENC	GINEER'S ESTIM	ATE		35.00	38,500.00
30101-4000	t	Aggregate base grading	C or D		
Delt	a Contracting Con	npany, LLC	3,250	32.00	104,000.00
Antl	nony & Gordon Co	onstruction Compa		70.00	227,500.00
ENC	GINEER'S ESTIM	ATE		30.00	97,500.00
30502-0000	m2	Aggregate-topsoil course	e (variable depth at overla	y sections)	
Delt	a Contracting Con	npany, LLC	1,720	31.00	53,320.00
Antl	nony & Gordon Co	onstruction Compa		27.00	46,440.00
ENC	GINEER'S ESTIM	ATE		12.00	20,640.00
30502-0700	m2	Aggregate-topsoil course	e, 100mm depth		
Delt	a Contracting Con	npany, LLC	2,170	31.00	67,270.00
	_	onstruction Compa		27.00	58,590.00
	GINEER'S ESTIM	_		15.00	32,550.00

Date: 08/27/07

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40101-0500	) t	Superpave pavement, 12 (Surface Course)	5mm nominal maximur	n size aggregate, <0.3 ı	million ESAL
De	elta Contracting Company	, LLC	970	132.50	128,525.00
	nthony & Gordon Constru			138.00	133,860.00
E	NGINEER'S ESTIMATE			110.00	106,700.00
40101-0500	) t	Superpave pavement, 12. (Base Course)	5mm nominal maximur	n size aggregate, <0.3 i	million ESAL
De	elta Contracting Company	, LLC	305	132.50	40,412.50
Aı	nthony & Gordon Constru	ction Compa		138.00	42,090.00
E	NGINEER'S ESTIMATE			110.00	33,550.00
40102-0500	) t	Superpave pavement, 12 wedge and leveling cours		n size aggregate, <0.3 ı	million ESAL,
De	elta Contracting Company	-	65	132.50	8,612.50
	nthony & Gordon Constru		03	138.00	8,970.00
	NGINEER'S ESTIMATE	etion compa		110.00	7,150.00
41410-1000	) m	Crack, cleaning and seali	ng		
De	elta Contracting Company	•	70	36.75	2,572.50
	nthony & Gordon Constru			40.00	2,800.00
	NGINEER'S ESTIMATE	1		30.00	2,100.00
41501-0000	) m2	Paving geotextile			
De	elta Contracting Company	, LLC	10	430.00	4,300.00
Aı	nthony & Gordon Constru	ction Compa		459.00	4,590.00
E	NGINEER'S ESTIMATE			25.00	250.00
55201-0200	) m3	Structural concrete, class	A (AE)		
De	elta Contracting Company	, LLC	70	900.00	63,000.00
Aı	nthony & Gordon Constru	ction Compa		2,500.00	175,000.00
E	NGINEER'S ESTIMATE			800.00	56,000.00
60201-0600	) m	450mm pipe culvert			
De	elta Contracting Company	, LLC	10	120.00	1,200.00
Aı	nthony & Gordon Constru	ction Compa		390.00	3,900.00
	NGINEER'S ESTIMATE			150.00	1,500.00
60703-0000	) m	Cleaning culverts in plac	e		
De	elta Contracting Company	, LLC	10	50.00	500.00
Aı	nthony & Gordon Constru	ction Compa		250.00	2,500.00
EN	NGINEER'S ESTIMATE			100.00	1,000.00

Date: 08/27/07

## TABULATION OF BIDS

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60709-0	0000 m	Cleaning drainage struct	tures in place		
	Delta Contracting Company	, LLC	50	35.00	1,750.00
	Anthony & Gordon Constru	action Compa		50.00	2,500.00
	ENGINEER'S ESTIMATE			25.00	1,250.00
60915-1	1000 Each	Wheelstop, concrete			
	Delta Contracting Company	y, LLC	15	70.00	1,050.00
	Anthony & Gordon Constru	action Compa		75.00	1,125.00
	ENGINEER'S ESTIMATE			200.00	3,000.00
61501-0	0100 m2	Sidewalk, concrete			
	Delta Contracting Company	, LLC	480	80.00	38,400.00
	Anthony & Gordon Constru			51.00	24,480.00
	ENGINEER'S ESTIMATE			75.00	36,000.00
61701-4	4000 m	Guardrail system SBTB			
	Delta Contracting Company	•	180	220.00	39,600.00
	Anthony & Gordon Constru			230.00	41,400.00
	ENGINEER'S ESTIMATE	-		300.00	54,000.00
61702-0	0500 Each	Terminal section, type F	AT-9		
	Delta Contracting Company	· -	2	1,750.00	3,500.00
	Anthony & Gordon Constru			1,900.00	3,800.00
	ENGINEER'S ESTIMATE	<u>-</u>		2,500.00	5,000.00
61920-2	2000 Each	Remove and reset gate			
	Delta Contracting Company		1	600.00	600.00
	Anthony & Gordon Constru			5,000.00	5,000.00
	ENGINEER'S ESTIMATE	1		1,500.00	1,500.00
62011-0	0300 Each	Stone masonry headwall	for 450mm pipe culvert		
	Delta Contracting Company	·	2	4,000.00	8,000.00
	Anthony & Gordon Constru			3,000.00	6,000.00
	ENGINEER'S ESTIMATE			4,000.00	8,000.00
62401-0	0300 m2	Furnishing and placing t	copsoil, 100mm depth		
	Delta Contracting Company		3,950	10.00	39,500.00
	Anthony & Gordon Constru			3.80	15,010.00
	ENGINEER'S ESTIMATE	_		8.00	31,600.00

Date: 08/27/07

## TABULATION OF BIDS

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62501-000	00 ha	Turf establishment			
D	Pelta Contracting Compa	any, LLC	0.8	4,000.00	3,200.00
Α	anthony & Gordon Cons	struction Compa		13,340.00	10,672.00
Е	NGINEER'S ESTIMAT	ΓΕ		13,500.00	10,800.00
62901-050	00 m2	Rolled erosion control p	roduct, type 2.A		
D	Pelta Contracting Compa	any, LLC	800	2.40	1,920.00
	anthony & Gordon Cons	_		7.00	5,600.00
E	NGINEER'S ESTIMAT	ΓΕ		7.00	5,600.00
62901-140	00 m2	Rolled erosion control p	roduct, type 5.C		
D	Pelta Contracting Compa	any, LLC	3,100	7.50	23,250.00
	anthony & Gordon Cons	*		6.50	20,150.00
Е	NGINEER'S ESTIMAT	ΓΕ		10.00	31,000.00
63304-090	00 m2	Signs, aluminum panels,	type 3 sheeting		
D	Pelta Contracting Compa	any, LLC	4	356.25	1,425.00
A	anthony & Gordon Cons	struction Compa		2,000.00	8,000.00
Е	NGINEER'S ESTIMAT	ΓΕ		550.00	2,200.00
63401-030	00 m	Pavement markings, type	e B, solid		
D	Pelta Contracting Compa	any, LLC	370	10.75	3,977.50
A	anthony & Gordon Cons	struction Compa		12.30	4,551.00
Е	NGINEER'S ESTIMAT	ΓΕ		5.00	1,850.00
63403-020	00 m2	Pavement markings, type	e B		
D	Pelta Contracting Compa	any, LLC	13	69.65	905.45
A	anthony & Gordon Cons	struction Compa		74.00	962.00
E	NGINEER'S ESTIMAT	ΓΕ		70.00	910.00
63503-090	00 m	Temporary traffic contro	ol, snow fence		
D	Pelta Contracting Compa	any, LLC	100	5.00	500.00
A	anthony & Gordon Cons	struction Compa		125.00	12,500.00
E	NGINEER'S ESTIMA	ГЕ		25.00	2,500.00
63701-000	00 Each	Field office			
D	Pelta Contracting Compa	any, LLC	1	120,000.00	120,000.00
Α	anthony & Gordon Cons	struction Compa		70,000.00	70,000.00
E	NGINEER'S ESTIMAT	ГЕ		35,000.00	35,000.00

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Project Name: SHILOH NATIONAL MILITARY PARK

BID ITEM CHECK PASS

Date: 08/30/07

Bidder	Item No.	Bidder's Extension	Computed Extension
		LAtension	LAtension

No extension errors in this Schedule.

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Project Name: SHILOH NATIONAL MILITARY PARK

## BID TOTAL CHECK PASS

Date: 08/30/07

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Delta Contracting Company, LLC	2,066,928.45	2,066,928.45	
Anthony & Gordon Construction Compa	2,442,262.00	2,442,262.00	

The apparent low bidder is 22 % above the engineer's estimate.

Bid Schedule A

Project No.: TEA-21 SHIL 502(2)

Project Name: SHILOH NATIONAL MILITARY PARK

## BID TOTAL CHECK PASS

Date: 08/27/20

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Delta Contracting Company, LLC	2,066,928.45	2,066,928.45	
Anthony & Gordon Construction Compa	2,442,262.00	2,442,262.00	

The apparent low bidder is 22 % above the engineer's estimate.